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ENGLISH SAMPLE WORKBOOK

Which part of the sentence s a participial phrase?

Having been on the road for four days, the Todds were exhausted.

a. were exhausted b. for four days

c. having been on the road d.ontheroad for fourdays

Given below are parts of a sentence labelled as P, Q, R and S. You are required to
choose proper sequence to rearrange these parts to produce the correct sentence.
(P) the Indian software industry (Q) both in volume and international acceptance (R)
has grown (S) over the years

a.SQPR b.SRPQ c.SPQR d.SPRQ

Which choice correctly changes the sentence below, written using passive voice, into
asentence using active voice?

The man was stung by a bee.
a. The man had been stung by a bee. b. Abee stungthe man.
c. Abee was stung by theman. d. The man was stung by a wasp.

If “-bol” means throw, then HYPERBOLE means:
a.extreme in degree b. exaggeration; overstatement
c.surrender d. occurring below the earth's surface

Which of the phrases (a), (b), (c) and (d) given below the sentence should replace the
phrase printed in bold in the sentence to make it grammatically correct?

The ship was in mercy of the waves.

a.tobeinmercy of b. having mercyon

c.atthe mercy of d. merciful to

Identify the Synonym of: TOKEN
a.Symbol b. Insurance c.Slip d. Assurance

Choose the set of words for each blank that best fits the meaning of the sentence.

Unpredictable of the child could notlead the consultants to any
a. performance, setting b. belief, judgement
C. operation, purpose d. behaviour, conclusion

Choose the option which best expresses the given sentence in Direct speech.
| told him that he was not working hard.

a. | said to him, “You are not working hard.”

b. told to him, “You are not working hard.”

c.lsaid, “You are not working hard.”

d.lsaid to him, “He is not working hard.”
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Find the correctly spelt words.
a. Palete b.Palet c.Palate d. Pelate

Choose the correct meaning of the proverb/idiom given below.
Tohaveanaxetogrind

a.Aprivate endtoserve b. Tofailto arouse interest
c.Tohave noresult d. Towork for both sides

Fillinthe blank with an appropriate preposition.
He plays cricket hockey.
a. beside b. within c.after d. besides

Choose the word which is most OPPOSITE in meaning of the word printed in bold.
FLOURISHING
a. Drooping b. Declining c. Fluctuating d. Opposing

Pick out the most effective word to fill in the blank to make the sentence
meaningfully complete.

Man does not live by alone.

a.food b. bread c. meals d.diet

Direction (Q.14 — 16): In the following passage there are blanks, each of which has
been numbered. These numbers are printed below the passage, against each, four
options are suggested, one of which fits the blank appropriately. Find out the
appropriate word in each case.

King Vikramaditya was ...(14)... for his justice and kindness. In his kingdom, everyone
was leading a happy and content life. His people loved him and were proud of him.
Once, Vikramaditya decided to build a palace on ariver bank. He ...(15)... his
ministers to survey the site and start the ...(16)...

a.seen b. respect c.smart d. known
a.ordered b. indicated c. hinted d. pleaded

a. build b. works c. creation d. construction
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